DEPARTMENT OF BIOTECHNOLOGY
UNIVERSITY OF KARACHI
SAMPLE TEST PAPER

NOTE: EACH QUESTION IS FOLLOWED BY FOUR CHOICES. CHOOSE THE BEST OPTION.

1. Doctoral students who are preparing to take their qualifying examination have been studying in the
library every night the last three months.
A. since
B. until
C. before
D. for
2. of the play, ‘Mourning Becomes Electra’, intro

hints at the plot.

A. The act first

B. Actone

C. Act first

D. First act
3. As soon as

A. abase will react

B. abase reacts

C. abase is reacting

D. the reaction of a base
4. To answer accurately is more ifx

A.

a quick finish

5.

6. Which of the following integers has the most divisors?
A. 88
B. 91
C. 95

D. 101



10.

11.

12.

13.

The cost of two flasks and a beaker totals Rs. 175. If the beaker costs Rs. 25 more than the flasks,
what is the cost of a pair of flasks.

A. Rs. 100
B. Rs.75

C. Rs. 125
D. Rs. 115

Successive discounts of 20% and 15% are equal to a single discount of

A. 30%
B. 32%
C. 34%
D. 35%

Eighty (80) is equal to

16472 Q
8/ 2

45

None of the above

oo wp

The ability of the lens to distinguish two closely 1 'ng) oC\s 1S
A. Resolution

B. Optical Density @
C. Transmittance

D. All of them

Which of the following proc . o&t nvolve carrier mediated transport?
A. Active transport

B. Facilitated djkfusion

g anabbreviation for base-pairs of DNA or RNA.
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14.

15.

16.

17.

18.

19.

20.

The site of protein synthesis is / are:
A. Mitochondria
B. Nucleus
C. Ribosomes
D. Golgi apparatus

Enzymes produced continuously throughout the life cycle of the cells are

enzymes.
A. Substitutive
B. Constitutive
C. Inducible
D. None of them

The Sequence of amino acids residues in a peptide chain is:

A. Secondary structure
B. Primary structure
C. Quaternary structure
D. Tertiary structure

What is the net production of ATP in anaerobic glycol

A. 2 moles
B. 4 moles
C. 6 moles

D. 8 moles

Ordinary hydrogen molecule is a mixt WO\fo1g
A. Ortho and para hydrogen
B. Ortho and meta hydrag
C. Meta and para hy¥
D. None of thepr:

. Complex ions
D. Simple ions

ecause they are:

§><>
35

6f hydrogen. These are called:



